Notes for video: http://tinyurl.com/rr480/video/binomial
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tab1 = table(dat1)
tab1 = table(dat1[,c(1,3)])
tab1 = table(dat1[,c("Species", "Surv")])
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pchisq(6.667,2)
 
chisq.test(tab1)
prop.test(tab1)




[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image001.png]
	 
	
	
	

	 
	[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image002.png]
	
	

	 
	
	
	fischer.test(tab2)
chisq.test(tab2)
prop.test(tab2)
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tab3 = c(8,16,24)
chisq.test(tab3)
chisq.test(tab3, p=c(1/4,1/4,1/2))
chisq.test(tab3, p=c(3,3,6), rescale.p=T)





[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image001.png]


[image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image002.png]




[bookmark: _GoBack][image: C:\Users\ahamann\AppData\Local\Temp\msohtmlclip1\02\clip_image001.png]










image6.png
e X% Mshiloun'on oely an n,:pm—.w.b.bu , not
Vowy good fac sunall oqecked vatuen Coppr < 5

s hutr et presecfd allovialy b ) Fshur's
et leot




image7.png
I:Xz'“’* ,& Dooium f‘f, {‘;; I

LMA i“d&\ﬂMah\m
Lromple Suvvived
of plambed pun

Tt stecbinn l—\aw-‘)'t
Mo idea hns mavy died
(v survey cT\-uhlnhlusL:,





image8.png
2_ iwb;mm\ - gﬂuk.ﬁz

X Cxecck_d
2 B0 Q6 (o et
- 13 v Lé - (¢ =g 471 et
2 B2 6t (2y0f epochabin
X: I—l—‘— 2 PV = 2.661 [ N




image9.png
lwa glm mbhion M R




image10.png
]%—\m* for T""’E'\MWS l

Surv | Code s ‘mm‘n mean p omd
A Vamanct o(i-p)

omd a shuidarl oo

Sl gjﬂ\.,.fle I-siced 2-len t

Down Spc.a'm B have >30% SWVU'\»J?

oo —{o - O





image11.png
o somple s showld be lave evouft $or Mo
UMJ:»\I L Reerum )-:’?:«:ck mﬁ f
oh&f >5 ouv
cw(-B)>s okYV




image12.png
e Sawuclc vens s
o ls sumyival 0y Spec A Lavpr Vo Spec B 7

Ao A Wpithnapep
E2 i sE P e 2
5‘%:5?(,_? *‘1»1.4—“1
2= |0.§'lg-;&| -2.58 W, kny

- Jogoy « ‘[g

?“m(z.ﬂ)"@ >0.155
VA=) > Falls for 3171.:.‘5

o Suger wie | alleros fw ellect s3e stabishics
o Confpdoma lubvuads omd SE  (arymehn'c)




image1.png




image2.png
lmpkmm‘hﬂ«‘m M '\Z
MMM




image3.png
g ecked

Mole olwn e

fk(lcc(«f_ﬂ‘ ('i‘;:&

2 3 2
2 B2 0F (29 (0-5) L e

ra

2

N

T 3 3 = 6.667




image4.png
o ALoVA eguavaliat, ]t.um.,_(, LoYA Povioie
X ob or Fisbuc's wsact dad (if oxpected <5)




image5.png




